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int f( int X, int

int numerator =
(x+y)* (X
denominator =
X*X+y*y,;
if (0 == denominator) {
denominator = 1;

y) {

- Y);
int

}

return (100 * numerator) /
denominator;

- fomit - frame - pointer

o Hnaowmgee , ° "7 T0O;" T [H
o T " mec m o c t a .
f.

, 96d3de

push esi

push ebx

mov esi, dword [esp+12]

mov ebx, dword [esp+16]

ebx

[ esp] 2



t o t X ~ ot
int f(int x, int y){ f:
int  numerator = K A
(X +y)*(x - Y); mov eax, esi
int denominator = mov ecx, ebx
X*X+y*ry; imul ecx, ebx ;y*y
if (0 == denominator) { imul eax, €esli ;X*Xx
denominator = 1; add ecx, eax ;y*y+x*x
} jne L2
return (100 * numerator) / mov ecx, 1
denominator; L2:
} K A

_ < t * 1 <

esi X
ebx y




t ~ t X ~ t
L — — <
int f( int X, int y){
int numerator = K A
(X +y)*(x - y); lea eax,[ ebx+esi];x+y
int denominator = sub esi, ebx X ZY
X*X+y*ry; imul eax, esi
if (0 == denominator) { imul eax, eax, 100
denominator = 1; cdg
} idiv ecx
return (100 * numerator) / , wgea3de
denominator ; pop ebx
} pop esi

_ < t * 1 <

esi X
ebx y

ret
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Z va list

W - h o 0O a e

Z va start (va list , last fixed param)
Z va arg(va_ list , cast type)

Z va_end(va list )



#include < stdarg.h >

iInt average( int
va list ap;
int sum =0;
If (0 == count) {
return -1;

}

va_start (ap, count);

for (int 1=0; i<count;
sum += va_arg ( ap,

va_end( ap);
return sum/count;

count, ...

AprymeHTh!

va_start(ap, count)

EBP—

| ++)
int );

ESP
‘Bepxywka” cteka

“IHO” cTeka

Arg 2

Arg 1

count

Afapec Bo3sparta

«MpexHee» EBP

CoxpaHeHHble
perncTpbl 1
nokarnbHble

nepemMeHHble

«lMpocTpaHcTBO»
aprymMeHToB

> Mpeabligywne
dpenmbl

Ppenm
BbI3blBalOLLEN
DYHKLUN

>- Tekywunin pperm




h a e
Ll < <
#include < stdarg.h >
int average( int count, ...){
va list ap;
int sum =0;
if (O == count) {
return -1,
}
va_start (ap, count);
for( int 1=0; i<count; I|++)
sum += va_arg (ap, int );
va_end( ap);

return sum/count;

0

<

average:
push
mov
push
mov
test
jne
mov
Pop
Pop
ret

L11:

K A

ebp
ebp,
ebx
ecx,
ecx,
L11
eax,
ebx
ebp

esp

dword [ebp+8]
ecx

-1




#include < stdarg.h >

int average( int count, ...){

va list ap;

int sum =0;

if (O == count) {
return - 1;

}

va_start (ap, count);
for ( int i=0; I<count;
sum += va_arg ( ap,

va_end( ap);
return sum/count;

| ++)
int );

0] 0]
< —
average:
K A
L11:

Xor eax, eax
xor edx, edx
test ecx, ecx
lea ebx, [ebp+12]

jle L5
.L8:
add edx, dword [ebx+eax*4]
add eax, 1
cmp ecx, eax
ig L8
L5:

K A




#include < stdarg.h >

int average( int count, ...){

va list ap;

int sum =0;

if (O == count) {
return - 1;

}

va_start (ap, count);
for ( int i=0; I<count;
sum += va_arg ( ap,

va_end( ap);
return sum/count;

| ++)
int );

0] 0]
< —
average:
K A
L11:

Xor eax, eax
xor edx, edx
test ecx, ecx
lea ebx, [ebp+12]

jle L5
L8:
add edx, dword [ebx+teax*4]
add eax,1
cmp ecx, eax
ig L8
LS5:

K A




#include < stdarg.h >

int

average( int count, ...) {
va list ap;
int sum =0;
if (O == count) {

return -1;
}
va_start (ap, count);
for ( int 1=0; i<count;

sum += va_arg ( ap,

va_end( ap);
return sum/count ;

| ++)
int );

O O
< —
average:
K A
L5:

mov eax, edx
sar edx, 31

idiv  ecx
pop ebx
pop ebp
ret
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s m m a ™ ™ he . |[f
< < < push bp
- - asn(" mov %1, %%ax\ n" pdx, 10
t —_ 1 )
W < 00 "mov %%ax, %0\ n" gbp, esp
w_ h agctVY
c " g M h ~ - t {#3" asm_inline.c "1
L Com ot e e moe t ™ mo\) ienatl()e(l_sgcr;)t(ax noprefix
o ~ v - ) f_\ g h :, 1 ’
Y _° @ ¢gec-AvR? mov edx, eax
#0"™ 2
int  f() {* Yydod yonedd d3mlingeb* #NO_APP
int a = 10, b; pop ebp
__asn(". intel_syntax noprefix \n" mov eax, edx
"mov eax, %1\ n" ret
"mov %0, eax\n"
“.att syntax \n"/* pyydeoeba3axdec)]om oy¥nos3pn |Y
"= r'(b) F ol hddyld dgdeoy d| J
" r'(a) Fohddy | d dgdeny | Y
"% eax" * cneacgyinde| d ecdeey¥yc| Y
);_ X T To a e’y a m et mf m o0
) Rl - masraintel 0 h ay m¥oh clh o




__attribute_ ((

fastcall )) unsigned f(unsigned u) {

return __ builtin_bswap32(u);

__attribute_ ((
__asm(". intel_syntax
"bswap %0 n"

2 "=r"(u)
"0 (u)
);

return u;

fastcall )) unsigned h(unsigned u) {

noprefix \n"
Fsmm

. att_syntax \n"

LI I




